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2022
COMMERCE
( Honours Elective )
Paper : COM-HE-6016
( Fundamentals of Investment )
Full Marks : 80
Time : Three hours

The figures in the margin indicate
Sull marks for the questions.

Answer either in English or in Assamese,

1. Answer the following as directed : (any ten
questions ) 1%10=10
TR weTe WAl *Tea e w41 ¢ (Reerear 72)

(a) Write the full form of NIFTY.
NIFTY ¥ 9i¢f Feitht foran |
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(b)

()

(@)

()

State whether the following statement
is True’ or ‘False’ :

OIS I wm 7 Swm 1 e
Investment in equity is safer than
bank fixed deposit.

TR (RFR0T) R @ses ﬂﬁ’[ TS
@R Fatom |

“The basic objective of investor is to

minimize the risk and maximize the
return on investment.” Write whether

the statement is “True’ or ‘False’.
S Rommics o i e wiEe

FAEER, 25 [RRceRR @ a7 @2
ST wa ¢ e o |

Who is the regulatory authority of
Indian stock market ?

CROR ¥ @Y PRIt SRR @ 2

In India, mutual fund scheme was first
started in

OIOT 24A TEowl e WA wigs L3
) 1964

YoWuws8
(i) 1987

Yabq
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(9)

(h)

(iii) 1992
SRR
(iv) None of the above
G999 GhI8 5T
( Choose the correct alternative )
(w7 [eseor i Sferaar)
Write the full form of CRISIL.
CRISIL ¥ =jf Feith1 &=
Give an example of zero coupon bond.
fe’ gom I «@fS Trrset fom
Which one of the following is the first
public sector mutual fund in India ?

fare (@Gl e euw Al deR
Srret sffer 2
() SBI Mutual Fund
- 5. R @2, Tt o

(i) Canbank Mutual Fund

(P Teazo T Afey
(@) UTI Mutual Fund

. B. Wi Sorsm I
(iv) HDFC Mutual Fund

<25, . @, . Sresh Ife

( Choose the correct alternative )

(% Rsich! A5 Tfvear)
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(1)

0)

“Share prices on stock exchanges are
determined by SEBI”. Write whether
the statement is True’ or False’.

“3% RFT %S S F SEBIF @Rl
fdiffe =" I FfF wm @ owm F[)

Which of the following features is not
associated with the
mutual fund ?

SR (PG @Y TE-efRTmE %NQ@?H
o4 wle Tv Tz

(i) It has a fixed maturity period.
2 <t F FeffRe e ezl

open-ended

(i) The investors can subscribe their
fund-'at any time.

4 AGAI I |

(iii) It provides prompt liquidity to
investors.

2 RIS <o ey o
CICH!
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(k)

)
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(iv) The investors have an option to
redeem their holding at any time.

4 912 T AT |

( Choose the correct alternative )
(&7 [Feschr I Sleear)

““‘Security market is a market for
equity, debts and derivatives.” Write
whether the statement is True or False.

“efoglo T@R 25 FAicHislg, AT SIS Tgh
Afeias Tee 1”7 G2 S wT 7 wew B

Which of the following is the oldest
stock exchange of India ?

T (IO OISR WiG1Zers A B R
@G ?

(i) Calcuta Stock Exchange
ferrel B Rt g

(i) Ahmedabad Stock Exchange
SRGMRT B Ry om

(i) Bombay Stock Exchange
Q@Y B [
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(iv) Gauhati Stock Exchange (ii) It arises out of a contract between

GNEG 85 Ry e : the two parties.
2 70l PR pieR ol T = |
(m) On which data SEBI introduced _

compulsory trading of shares of listed (iii) It may be of financial or
companies in ‘DEMAT’ form ? commodity derivatives.
XN C*"‘f;' iy 0l 2 RS 91 7@ U R = A
() 1st January, 2016 (iv) All of the above
@) 1lst April, 2017 G9[FF G120
(i) 1st January, 2018 ( Choose the correct alternative )

(®% R A Blaeqr)

(o) Securities and Exchange Board of
India (SEBI) was constituted in the

(iv) st April, 2019

(Choose the correct alternative )

(o [aser A Cfaear ) Yedr

(n) Which of the following is the feature of O S T TS 28
derivative ? M5 T2
FefFRe @Rm oRcete / Te e G
i =) v g {0
_ ‘ : (i) 2002
() It is an instrument whose value 00}
depends upon the value of some (iii) 1992
underlying assets, SBBR
R O AR W o oo iy 2000
AT 1 eoime fids Lt
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) . What i insi trading ?
2. Answer any five questions of the following (@) Attzsfifednt Iplee el

in about 50 words each : 2x5=10 fowsae I iﬁ‘l@l & e ?
TS [Pl #HfpbT eI ATOIRCT 2 @o B W *[S (W) Define NAV.
ok NAV 3 5@l |
(a) Give the meaning of investment.
3. Answer any four questions of the following
iai;—:li:ﬂ. | ﬂ@"fla ql |
G b in about 150 words each : Sx4=20
(b) What is bond yield ? o/ fAeAeer bifab! ee TR AW Y@ob! Wi
AT g foege Uey fordl 3
(a) Write any five features of equity share.

(c) Write a note or price earning ratio.

23201 SR¥F 7 (A At ey B
P.E. S[gsires (Get fovalt |

(b) Distinguish between financial assets

‘ d physical assets.
(d) Mention two characteristics of i

investment. AR 7€ I%: =F Tifeq Nrore ey
RIGAISR 751 TRy e el
_ (c) Discuss the importance of

(e) Give the meaning of bonus share. fundamental analysis.
A wT = @iy By CTfere ResRed 8399 ST 3 |

(1 What is commpo Al e e 5 (d) Write the ;;j;ures of bonds.
TS LG R s TG (TR T
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(e) Briefly discuss the two types of bond
yield.

73 oA TG T HEe] S 39 |

(- \Write a note on ' efficient matket
hypothesis.

PR TG 4R e | (Gl Bl

(9) Explain different types of financial
derivatives,

IR R e R R p—

(h) Distinguish between  open-ended

mutual fund and close-ended mutual
fund.

TS AR Ve oJfes i 7w
ﬁmmﬁﬁ@ﬁmwm|

zf\nswer any four questions of the following
N about 600 wopqg each : 10x4=40

WWWWW yoo o WA
WW@%Wz il

. Yo
¥ thgt' do you mean by investment
sf LSO process » Digcuss various
oo volved in an  jnvestment

CClsion Process.

(FoI1)/G 10

(b)

(c)

(@)

(e)

B Fars At e & 3@ 2 R
ﬁmﬁw wive ffen  sMCwTR

AL

What is real estate ? Discuss variogs
types of real estate properties in India.
2+8=10

e @06 7 ¢ oFes Rfen g9 Raw
QTPT WEReEY [RECH D 35 |

Define financial derivative. Discuss the
features of financial derivative.

2+8=10

e e 7= kel it REw T e
CAMERTR SCEBA 5 |

What is bond ? Explain different types
of bonds. 2+8=10

T & ¢ Rfon o9ie I 369 31

Briefly discuss about various market
participants in the Indian securities
market.

ool Aol ITWW Rfen wammms)
Feerd A BACE SIS 1|
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(7 What is technical analysis ? Expl?iafi
various assumptions of technic

analysis. 2+8=10
IR Rt R 2 iR R qRapTz
TR [ |

() Discuss the role played by the SEBI in
investor protection.

ﬁﬁm%@wmc@%(smna%ﬁﬂ
ST 5471 |

(W) What is meant by mutual fund ?

Explain its advantages and
disadvantages. 2+8=10

(i) Explain the

major advantages and
disad

vantages of investing in bonds.

0 RINGR et Rt e g
S TR

0) In which year ggg; came into effect ?

Also point oyt the principal functions
of SEBI.

2+8=10

" _-_-—-—'—'—-—.___
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